Supplement #3

Solve the followning equations for x.
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Supplement #4

52z _ g2
(2.5)3*+* = (2.5)°
10'* = 100
3(2.7)°* =8.1
(2:1:+1 '2—3)2 —9
2% =4.2%

(l+2)2°"—5.27% =0
(2 —31)5% +4:5* =0
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10~% =10°
(32" = (3.2)°
24— = 8
4(2.7)%= 1 =10.8
(32; _32)4 -3
3.3 -3=0

2 — — =0
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Simplify the following expressions.
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eln T4+1ln2
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eln 4.1
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Solve the following equations for .
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e =5
In(4—z)=1
Inz?=9
ge—00012z _ g
Indz =1inb5
In(ln3z) =0
2¢*/3 9 =0
5In2x =8
(€2)%-" = 4

4e®.e 2 = ¢
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el 3 =14
ln3z =2

e =25
4—-lnz=0
In(z® - 5) =0
2Inz =7

eVF = \JoF
750e~"4* = 375
5% . elt5 — 9

(ea:)2 _62—-3::: =4



Answers: Supplement #3
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